
72" PPC BULB T-BEAM DETAILS

STRUCTURE NO. 082-0119 (E.B.) & 082-0120 (W.B.)

MJK

BTO

MJK

BTO

Furnishing and Erecting Precast

Prestressed Concrete

Bulb T-Beams, 72’’

BAR G4

BILL OF MATERIAL

Item Unit Total

  Ft.

6’’

3’’ Radius

Top of Beam8
’’

4
’’

LIFTING LOOP DETAIL

Fan at
|6’’ cts.

Fan at

|6’’ cts.

2’’ 4 spa. @

3 1/4 ’’ = 1’-1’’

3
’’

1
’-

8
’’

3
’’

2
’-

2
’’

11
 3

/8
 ’’

11
 3

/8
 ’’

3 
1/

4 
’’

~ Beam

5’’ 5’’

2’’ 2’’

 3/4 ’’ } Vent

hole

10
’’

3 
1/

4 
’’

3 
3/

8 
’’

3 
3/

8 
’’

~ Beam

4’’ 9’’ 4’’

1’-5’’

BOTTOM PLATE

TOP PLATE

~
  
3
/4

 ’
’ 

}

st
u
d
s

4 spa. at

3 1/4 ’’ = 1’-1’’

6’’

  See bearing details for pintle hole

locations when required.

2’-0’’

5 
1/

4 
’’

4
’’

End of

beam

End of

beam

~ 1’’ } holes for

 3/4 ’’ } threaded rods

~ Tapped holes for

 3/4 ’’ } threaded rods

5
’-

6
’’

1’-1 1/2 ’’

BAR G1

6 1/4 ’’

Outside

R = 2’’

6
’-

1
’’

4 1/2 ’’

BAR G2

6 1/4 ’’

Outside

R = 2’’

5
’-

7
’’

1 1/4 ’’ } Conduit

1
’-

0
’’

NOTES

 

2’’

7’’

1’-5’’

4 -  1/2 ’’ }

270 ksi strands

208277

 3/4 ’’ } A307 Bolts with lock nuts., typ.

Bolts through the concrete web shall

be tightened to snug tight only.

‘ 4’’ x 4’’ x  3/8 ’’, typ.

 13/16 ’’ x 1 7/8 ’’ vertical

slotted holes in angle or

equivalent Bent ‘, typ.

 13/16 ’’ x 1 7/8 ’’ slotted

holes along the

angle, typ.

DETAIL A

See Detail A

PERMANENT BRACING DETAILS

FOR BULB-T BEAMS

|1
’-

0
’’

ty
p.

Fill ‘ &  3/4 ’’}

H.S. Bolt

|1
’-

3
’’

ty
p.

Exterior Beam

{ 3 1/2  x 3 1/2  x  3/8 ’’, typ.

* Fabricator shall locate to miss strands

within permissible tolerances.

{ 6 x 6 x  3/8 ’’ or

equivalent Bent ‘,

typ.

 3/4 ’’ } H.S.

Bolt, typ.

1’’ I.D. formed hole with

PVC pipe cast at right

angles to web, typ.

*

Notes:

  All material for bracing shall be hot dip galvanized

according to AASHTO M111 unless otherwise noted.

  Two hardened washers are required for each set of oversized holes.

  All holes shall be  15/16 ’’} unless otherwise noted.

   5/16 ’’ x 3’’ x 3’’ plate washers are required over all slotted holes.

  All bolts shall be galvanized according to AASHTO M232.

  Bracing shall be installed as beams are erected and tightened

as soon as possible during erection.

  Permanent bracing shall not be paid for separately, but shall be

included in the cost of Furnishing and Erecting Precast Prestressed

Concrete Bulb T-Beams, 72".

*Both Structures

   SHEET NO. S-31 OF S-51 SHEETS

  Inserts for  3/4 ’’ } threaded dowel rods, when specified, are to be two strut,

ferrule type for interior beams and single ferrule, flared loop type for exterior beams.

  Prestressing steel shall be uncoated high strength, low relaxation 7-wire strand,

Grade 270.  The nominal diameter shall be  1/2 ’’ and the nominal cross-sectional area

shall be 0.153 sq. in.

  Reinforcement bars shall conform to ASTM A 706, Grade 60. (See Special Provisions).

  A minimum 2 1/2 ’’ } lifting pin shall be used to engage the lifting loops during handling.

  The top and bottom plates shall be AASHTO M270 Grade 50.

  The bottom plates and studs shall be galvanized according to AASHTO M111.  Top

plates and threaded rods need not be galvanized.

  Threaded rods shall be ASTM F 1554 Grade 55.

  All (embedded and separate) bearing plates, side retainers, anchor bolts, 

nuts, washers and pintles shall be galvanized according to AASHTO M111 or 

M232 as applicable.

2021.5

USER NAME =

PLOT SCALE =

PLOT DATE =

REVISED -

-

-

-

REVISED

REVISED

REVISED

NO.
SECTION COUNTY

ILLINOIS FED. AID PROJECT

TOTAL

SHEETS

SHEET

NO.RTE.

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

DESIGNED -

-

-

-

CHECKED

DRAWN

CHECKED

 
 

 
   

 

 

   

 

  

 

 

FILE NAME USER NAME =

PLOT SCALE =

PLOT DATE =

= REVISED -

-

-

-

REVISED

REVISED

REVISED

SECTION

    

RTE.

                      

F.A.  DESIGNED -    

-

-

-

   

   

CHECKED

DRAWN

CHECKED    

103

F.A.P

27-1-VHB-1 ST. CLAIR

CONTRACT NO. 76884 

Subscript and Superscript

Callouts, dimensions and notes

Titles

SHEET NO. S- OF S-46 SHEETS

F
IL

E
 N

A
M

E
0

8
2

0
1

1
9

-0
1

2
0

-7
6

8
8

4
-0

3
1

-P
P

C
B

u
lb

T
B

e
a
m

D
e
ta

il
s
.d

g
n

=

0:2.0000 ’:" / IN.

10/19/2011

brazzara


	IL 15 o IL 13 11x17.pdf
	0820119-0120-76884-001-GPE-001.pdf
	0820119-0120-76884-002-GeneralNotes-001.pdf
	0820119-0120-76884-003-FoundationPlan-001.pdf
	0820119-0120-76884-004-TempMSE-001.pdf
	0820119-0120-76884-005-StageConst-001.pdf
	0820119-0120-76884-006-DeckElevEB-001.pdf
	0820119-0120-76884-007-DeckElevEB-001.pdf
	0820119-0120-76884-008-DeckElevWB-001.pdf
	0820119-0120-76884-009-DeckElevWB-001.pdf
	0820119-0120-76884-010-EastApprElevEB-001.pdf
	0820119-0120-76884-011-WestApprElevEB-001.pdf
	0820119-0120-76884-012-EastApprElevWB-001.pdf
	0820119-0120-76884-013-WestApprElevWB-001.pdf
	0820119-0120-76884-014-DeckPlanEB-001.pdf
	0820119-0120-76884-015-DeckPlanWB-001.pdf
	0820119-0120-76884-016-DeckSectionEB-001.pdf
	0820119-0120-76884-017-DeckSectionWB-001.pdf
	0820119-0120-76884-018-SuperstrDetailsEB-001.pdf
	0820119-0120-76884-019-SuperstrDetailsWB-001.pdf
	0820119-0120-76884-020-ParapetEB-001.pdf
	0820119-0120-76884-021-ParapetWB-001.pdf
	0820119-0120-76884-022-EastApprPlanEB-001.pdf
	0820119-0120-76884-023-WestApprPlanEB-001.pdf
	0820119-0120-76884-024-EBApprDetails-001.pdf
	0820119-0120-76884-025-EastApprPlanWB-001.pdf
	0820119-0120-76884-026-WestApprPlanWB-001.pdf
	0820119-0120-76884-027-WBApprDetails-001.pdf
	0820119-0120-76884-028-FramingEB-001.pdf
	0820119-0120-76884-029-FramingWB-001.pdf
	0820119-0120-76884-030-PPCBulbTBeam-001.pdf
	0820119-0120-76884-031-PPCBulbTBeamDetails-001.pdf
	0820119-0120-76884-032-Bearings-001.pdf
	0820119-0120-76884-033-EastAbutEB-001.pdf
	0820119-0120-76884-034-EastAbutWB-001.pdf
	0820119-0120-76884-035-EastAbutDetails-001.pdf
	0820119-0120-76884-036-WestAbutEB-001.pdf
	0820119-0120-76884-037-WestAbutWB-001.pdf
	0820119-0120-76884-038-WestAbutDetails-001.pdf
	0820119-0120-76884-039-BarSplicer-001.pdf
	0820119-0120-76884-040-PileDetails-001.pdf
	0820119-0120-76884-041-ParapetSlipforming-001.pdf
	0820119-0120-76884-042-BoringLogs-001.pdf
	0820119-0120-76884-043-BoringLogs-001.pdf
	0820119-0120-76884-044-BoringLogs-001.pdf
	0820119-0120-76884-045-BoringLogs-001.pdf
	0820119-0120-76884-046-BoringLogs-001.pdf
	0820119-0120-76884-047-BoringLogs-001.pdf
	0820119-0120-76884-048-BoringLogs-001.pdf
	0820119-0120-76884-049-BoringLogs-001.pdf
	0820119-0120-76884-050-BoringLogs-001.pdf
	0820119-0120-76884-051-BoringLogs-001.pdf
	101811 EDITS.pdf
	0820119-0120-76884-001-GPE-001.pdf
	0820119-0120-76884-002-GeneralNotes-001.pdf
	0820119-0120-76884-010-EastApprElevEB-001.pdf
	0820119-0120-76884-020-ParapetEB-001.pdf
	0820119-0120-76884-021-ParapetWB-001.pdf

	101811 EDITS.pdf
	0820119-0120-76884-001-GPE-001.pdf
	0820119-0120-76884-002-GeneralNotes-001.pdf
	0820119-0120-76884-010-EastApprElevEB-001.pdf
	0820119-0120-76884-020-ParapetEB-001.pdf
	0820119-0120-76884-021-ParapetWB-001.pdf

	101811 EDITS.pdf
	0820119-0120-76884-001-GPE-001.pdf
	0820119-0120-76884-002-GeneralNotes-001.pdf
	0820119-0120-76884-010-EastApprElevEB-001.pdf
	0820119-0120-76884-020-ParapetEB-001.pdf
	0820119-0120-76884-021-ParapetWB-001.pdf

	101811 EDITS.pdf
	0820119-0120-76884-001-GPE-001.pdf
	0820119-0120-76884-002-GeneralNotes-001.pdf
	0820119-0120-76884-010-EastApprElevEB-001.pdf
	0820119-0120-76884-020-ParapetEB-001.pdf
	0820119-0120-76884-021-ParapetWB-001.pdf

	101811 EDITS.pdf
	0820119-0120-76884-001-GPE-001.pdf
	0820119-0120-76884-002-GeneralNotes-001.pdf
	0820119-0120-76884-010-EastApprElevEB-001.pdf
	0820119-0120-76884-020-ParapetEB-001.pdf
	0820119-0120-76884-021-ParapetWB-001.pdf

	S2.pdf
	0820119-0120-76884-002-GeneralNotes-001.pdf



